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Part 2: Solve Systems Activity

Calculator pages have been inserted for you. I just did not put them on this sheet.
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	[image: image2.png]Press menu>7:Points&Lines>Point
To Put Coordinates on the Points:

Press menux>1:Actions>7:Coordinates&

Equations|






	[image: image3.png]hogwarts Castle Problem: You are to find
the equation in slope-intercept form for each
side of the turret. Then, set the equations
equal to each other to find the interestion
point. Press Ctrl G for the function entry line
and enter in the two equations. If they don't
meet at the missing peak, redo.





	[image: image4.png]To check your answer that you calculated
press menu=Points&Lines>

Intersection Point and click on each line
until the coordinates appear and then click
again. The coordinates should match what
you calculated.‘
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	[image: image6.png]Hogwarts Problem 2:

You may pick any two turrets to find the
peak coordinates.
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Find ONE top of the trees.
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	[image: image10.png]Hunger Games Problem:

1) Find the equation of the line of the arrow

2) Find the coordinates of all four (4) tips of
the wings and tail.

| have inserted 5 pictures so your space
does not get so crowded.
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